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25.

The straight line shows the graph of | plotted against "
Vx. Which of the following could be a possibility for '
the equation linking y and x?
1 1
AY=— By=—— Cy=x-1
2 x -1 ou @ f
2 1
£ T T e e

T x—2vx+1 T x+2vx+ 1 Vi

All six vertices of hexagon UVWXYZ lie on the circumference of a circle;
LZUV = 88°and LXYZ = 158°. What is the size of LVWX?

A 92° B 114° C 120° D 132° E itisimpossible to determine

The outer equilateral triangle has area 1. The points A,
B, C are a quarter of the way along the sides as shown.
What is the area of the equilateral triangle ABC?
3 7 1 9 5
A= Bl @ Dl E -
8 16 2 16 8

a
% 2

Given an unlimited supply of 50p, £1 and £2 coins, in how many different ways is
it possible to make a sum of £100?

A 1326 B 2500 C 2601 D 5050 E 10000

The cube, XYZTABCD, is cut into four pieces by
cutting along two planes, BCTX and BDTY. What

fraction of the volume of the cube is occupied by the A
piece containing corner A?
1 3
A - B - €Cl— D i E
8 3 10 18
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AOB is an isosceles right-angled triangle drawnina A
quadrant of a circle of radius 1 unit. The largest
possible circle is drawn in the minor segment cut

off by the line AB. This circle has radius r. The

radius of the inscribed circle of the triangle AOB is

R
R. What is the value of —?
r

o

A2 B 2V2-1 C V2+1
9
D g E 3 0 B
How many pairs of positive integers (x, y) are solutions of the equation
x Ty g
A0 B 1 C2 D 3 E more than 3
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If you kept counting back eleven years at a time from 2003, at which of the
following years would you arrive?

A 1505 B 1605 C 1705 D 1805 E 1905

Triangle PQU has a right angle at U. The
points R, S and 7 divide the side QU into
quarters. Which of the following statements
about the areas of the triangles POR, PRS,
PST, PTU is true?

A All have the same area B APQR is biggest
D APST is biggest

SN Yx O

C APRS is biggest
E APTU is biggest

Ifa ® b = Vab + 4, then what is the value of (2 @ 6) ® 8?
A 6 B 8 C 10 D 12 E 18

Susan is taller than Sophie, but shorter than Sandra. Stephanie is taller than Sarah,
but shorter than Susan. Who is the tallest of these five girls?

A Susan B Sophie C Sandra D Stephanie E Sarah

One of the oldest sporting events in the world is the Kiplingcotes Derby, a horse
race which has been held in the East Yorkshire Wolds almost every year since
1519. Each rider pays a fee of £4.25 to enter the race. The first prize in the race is
the sum of £50, but the second prize is the total of the entry fees minus an
administration cost of 25p per rider. In 2000, 18 riders competed in the
Kiplingcotes Derby. How much greater than the first prize was the second prize?

ANEDD B £26.50 C £46 D L7 E £76.50
The engineering company, Sparks and Tensor, has A B c
a complicated system of conveyor belts in its

factory. Components must travel along these belts

in the directions shown by the arrows. D E F

How many different routes are there from A to F along the conveyor belts?
A 4 B 5 C 6 D 7 E 8

Climbers use ropes of different diameters. A 50m rope which is 9mm in diameter
weighs about 2.7kg. Roughly what would a 50m rope of the same material, but of
diameter 1 1mm, weigh?

A 2.7kg B 3.3kg C 4kg D 49kg E 6kg

The difference between two numbers is one quarter of their sum. What is the ratio
of the smaller number to the larger number?

A 3:8 B 12 CS5ET D 1:4 E. 35

Mary received a 10% pay rise, and Margaret received a 5% pay rise. This gave
them both salaries of £23 100 per year. How much more, per year, did Margaret
earn than Mary before they received these pay rises?

A £1155 B £1000 C £850 D £760 E £550

10.

11.

12

13

14.

15.

16.

17,

18.

On 2 July 2002, Steve Fossett completed the first solo balloon circumnavigation of
the world after 134 days. Assuming the balloon travelled along a circle of diameter
12 750 km, roughly what was the average speed of the balloon in km/h?

A 12 B 40 c .75 D 120 E 300

In a fit of madness, the bee Zerk left the hive and flew 1m due North, then 1m due
East, then 1m vertically up. She then made a beeline for the hive, flying directly
home in a straight line.

How far, in m, did she fly altogether?
A 4 B 3+42 €3 A D 5} E 6

From the information given in the diagram shown
alongside, what is the value of a + b?

A3 B 4 C 5 D 6 T

Which of the following is divisible by 3 for every whole number x?

Al oy B — ] Cx Dl E X +x

Which of the following straight lines should be omitted to leave four lines which
determine a square?

A y+x=3 B y=x-1 Cy+x=1D y=x+1 Ey+x=2

The number of this year, 2003, is prime. How many square numbers are factors of
200377

A0 B 1 C 44 D 1002 E 2003

Five peaches, three oranges and two melons cost £3.18. Four peaches, eight
oranges and three melons cost £4.49. How much more expensive is a peach than
an orange?

A 8p B Tp C 6p D 5p E more information needed

In the diagram alongside, square ABCD has side 4cm, and E
square AEFG has side 2cm.
What, in cm, is the length of CE? A S
A 4 B 4+\V2 C 6 DB dedy2 G
D c

What is the value of 22003 — 22002 _ 72001 _ 720009
Al oies9 2002 B 0 (Bl D 64 Bt 0200



